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( - N
\Fractlons of a GroupJ

Complete the fraction equation for each picture.

a. b.

% of 5= %of 12 =
5 of 15 = % of 4=
1
j. Tonysaw 6 birdsin atree. —— of them flew k.

away. How many were left?

= &

1
6 of 6 =

1
Bob got 8 presents for his birthday and opened >
of them. How many did he open?
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ANSWER KEY

( - N
\Fractlons of a GroupJ

Complete the fraction equation for each picture.

a. b.

S ofl5= O %0f4: 2 %of(ﬁz 1
. . 1 1
Jo Tonysaw 6 birds in a tree. 5 of them flew k. Bob got 8 presents for his birthday and opened >
away. How many were left? of them. How many did he open?
) 4
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